
 
 

  Seat No. :  _______________ 
 

TS-101 
M.Com. Sem.-I 

May-2013 

404-Business Research Methods 
 
 

Time :  3 Hours]  [Max. Marks : 70 
 

 

1. (…) “ÍÛ×ÉÛÛéµÛ¶Û ¸ÛóÜ’õýÛÛ¾ÛÛ× –Û¨ÛÛ× ¼ÛµÛÛ ÍÛ×¼Û×ÜµÛ©Û ¸Û•ÛÜ¬ÛýÛÛ ™öé.” ÍÛ×ÉÛÛéµÛ¶Û ¸ÛóÜ’õýÛÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× …Û 
ÜÈÛµÛÛ¶Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

 (¼Û) ÍÛ×ÉÛÛéµÛ¶Û ¾ÛÛÇ”ÛÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ÈÛ¨ÛÙ¶ÛÛ©¾Ûïõ ÍÛ×ÉÛÛéµÛ¶Û ¾ÛÛÇ”Ûä× …¶Ûé ïõÛýÛÙïõÛÁõ¨Û ÍÛ×ÉÛÛéµÛ¶Û 
¾ÛÛÇ”ÛÛ ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 7 

…¬ÛÈÛÛ 

 ÍÛ×ÉÛÛéµÛ¶Û ¸Ûó̧ ÛÛé¡öÅÛ¶Ûä× ¾ÛÛÇ”Ûä× þùÉÛÛÙÈÛÛé. …éïõ ”ÛÛ² ©ÛéÅÛ ¾ÛÛ¤éø •ÛóÛÐüïõÛé¶ÛÛé ÍÛ×©ÛÛéÌÛ ¾ÛÛ¸ÛÈÛÛ ¾ÛÛ¤éø¶ÛÛ ÍÛ×ÉÛÛéµÛ¶Û 
¸Ûó¸ÛÛé¡öÅÛ¶Ûà Áõ˜Û¶ÛÛ ïõÁõÛé. 14 

  

2. (…) ïõÛéÌ¤øïõàïõÁõ¨Û …é¤øÅÛé ÉÛä× ? …Û×ïõ¦øÛïõàýÛ ¾ÛÛÜÐü©Ûà¶Ûä× ïõÛéÌ¤øïõàïõÁõ¨Û ïõÁõÈÛÛ ¾ÛÛ¤éø¶ÛÛ ÜÈÛÜÈÛµÛ ïõÛéÌ¤øïõÛé 
ÍÛ¾Û›ÛÈÛÛé.  7 

 (¼Û) ¦éø¤øÛ ¾ÛÛˆ¶Ûá•Û …é¤øÅÛé ÉÛä× ? ¦éø¤øÛ ¾ÛÛˆ¶Ûá•Û¶Ûà ¸ÛóÜ’õýÛÛ ÍÛÜÈÛÍ©ÛÛÁõ ÈÛ¨ÛÙÈÛÛé. 7 

…¬ÛÈÛÛ 

 (…) …ÛŠ¤øÅÛÛýÛÁõ …é¤øÅÛé ÉÛä× ? ©Û¾ÛÛÁõÛ ÍÛ×ÉÛÛéµÛ¶Û …½ýÛÛÍÛ¾ÛÛ× ©Û¾Ûé ”Ûä¤ø©Ûà ¾ÛÛÜÐü©Ûà …¶Ûé …ÛŠ¤ÅÛÛýÛÁõ 
¾ÛÛ¤éø ÉÛä× ïõÁõÉÛÛé ? 7 

 (¼Û) …Û¶Ûä’õÜ¾Ûïõ Ü¶ÛþùÉÛÙ¶Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 7  

 

3. (…) ACME Appliances¾ÛÛ× …éïõ ¾ÛÐüÛÍÛéÅÛ¶ÛÛ ™öéÅÅÛÛ ÜþùÈÛÍÛé …ÛÈÛ¶ÛÛÁõ 200 •ÛóÛÐüïõÛé…é ”Û˜ÛÙ ïõÁéõÅÛ 
ÄõÜ¸ÛýÛÛ¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. …Û ¾ÛÛÜÐü©Ûà¶Ûé ` 100¶ÛÛ ÍÛ¾ÛæÐüÛé¾ÛÛ× ÈÛÐêü˜ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé ›÷é 
¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 

  

”Û˜ÛÙ (`) 0-100 100-200 200-300 300-400 400-500 500-600 

•ÛóÛÐüïõÛé¶Ûà ÍÛ×”ýÛÛ : 35 42 50 38 25 10 

TS-101 1 P.T.O.  

 (1) …Û •ÛóÛÐüïõÛé…é ïõÁéõÅÛ ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ¾ÛéÇÈÛÛé. 

 (2) ›Ûé ÍÛ×˜ÛÛÅÛ¶Û ÍÛÛíé¬Ûà ÈÛµÛä ”Û˜ÛÙ ïõÁõ¶ÛÛÁõ 25% •ÛóÛÐüïõÛé¶Ûé ½Ûé¤ø …Û¸ÛÈÛÛ¶Ûä× ¶Û‘õà ïõÁéõ ©ÛÛé …Û 
½Ûé¤ø ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø •ÛóÛÐüïéõ ïéõ¤øÅÛÛé ¶ýÛæ¶Û©Û¾Û ”Û˜ÛÙ ïõÁõÈÛÛé ¸Û¦éø ? 
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(¼Û) …éïõ îÅÛÛÍÛ¾ÛÛ× ªÛà›Ûé •Ûóé¦ø ¾ÛéÇÈÛ¶ÛÛÁõ ¾Û×þù•ÛÜ©Û¬Ûà ÉÛà”Û¶ÛÛÁõ ÜÈÛ²Û¬Ûâ…Ûé¾ÛÛ×¬Ûà 8 ÜÈÛ²Û¬Ûâ…Ûé¶Ûà 

›Ûé¦øà…Ûé ¸ÛÍÛ×þù ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. þùÁéõïõ ›Ûé¦øà¾ÛÛ×¬Ûà ýÛ´ù˜™ö Áõà©Ûé …éïõ ÜÈÛ²Û¬Ûâ¶Ûé ›æ÷¶Ûà ¸Û±ùÜ©Û¬Ûà 

½Û¨ÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé …¶Ûé ¼Ûà›Û¶Ûé ¶ÛÈÛà ¸Û±ùÜ©Û¬Ûà ½Û¨ÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé …¶Ûé ©ýÛÛÁõ¼ÛÛþù ©Ûé¾Û¶ÛÛ 

¸ÛÁõà“ÛÛ¾ÛÛ× ¾ÛéÇÈÛéÅÛ ÍïõÛéÁõ ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ›÷é¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : …Û ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà 

¸ÛÜÁõïõÅ¸Û¶ÛÛ “¶ÛÈÛà ¸Û±ùÜ©Û¬Ûà ½Û¨ÛÛÈÛéÅÛ ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ ÍÛÁéõÁõÛÉÛ •Ûä̈ Û ›æ÷¶Ûà ¸Û±ùÜ©Û¬Ûà ½Û¨ÛÛÈÛéÅÛ 

ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ ÍÛÁéõÁõÛÉÛ •Ûä̈ Û ïõÁõ©ÛÛ ÈÛµÛÛÁéõ ™öé.” ©Ûé¶Ûä× ¸ÛÁõà“Û¨Û ïõÁõÛé : 7  

›Ûé¦ø : 1 2 3 4 5 6 7 8 

¶ÛÈÛà ¸Û±ùÜ©Û : 77 74 82 73 87 69 66 80 

›æ÷¶Ûà ¸Û±ùÜ©Û : 72 68 76 68 84 68 61 76 

…¬ÛÈÛÛ 

3. …éïõ ÜÈÛ²Û¬Ûâ¶ÛÛ ¸ÛÁõà“ÛÛ¾ÛÛ× ¾ÛéÇÈÛéÅÛ •Ûä¨Û¶ÛÛé ©Ûé¶ÛÛ …½ýÛÛÍÛ ïõÁõÈÛÛ ¾ÛÛ¤éø¶ÛÛ ÍÛ¾ÛýÛ•ÛÛÇÛ ÍÛÛ¬Ûé ÍÛ×¼Û×ÜµÛ©Û ™öé 

ïéõ ïéõ¾Û ©Ûé¶Ûä× ¸ÛÁõà“Û¨Û ïõÁõÈÛÛ ¾ÛÛ¤éø …éïõ …½ýÛÛÍÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé. ©Ûé¶ÛÛ ¾ÛÛ¤éø ™öéÅÅÛÛ ÍÛé¾ÛéÍ¤øÁõ¶ÛÛ 

ÜÈÛ²Û¬Ûâ…Ûé¾ÛÛ×¬Ûà 15 ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛé …éïõ Ü¶ÛþùÉÛÙ ÅÛéÈÛÛ¾ÛÛ× …ÛÈýÛÛé ™öé. ©Ûé¾Û¶Ûé ©Ûé¾Û¶ÛÛ ¸ÛÁõà“ÛÛ¾ÛÛ× ¾ÛéÇÈÛéÅÛ 

•Ûä¨Û …¶Ûé ©Ûé¾Û¨Ûé …½ýÛÛÍÛ ¾ÛÛ¤éø ºõÛÇÈÛéÅÛ ÍÛ¾ÛýÛ ÜÈÛÌÛýÛé¶Ûà ¾ÛÛÜÐü©Ûà ¸Ûæ™öÈÛÛ¾ÛÛ× …ÛÈÛà Ðü©Ûà ›÷é ¶Ûà˜Ûé ¾Ûä›÷¼Û 

™öé :    14 

  

•Ûä̈ Û : 77 63 79 86 51 78 83 90 84 

…½ýÛÛÍÛ¶ÛÛé ÍÛ¾ÛýÛ : 40 42 37 47 25 44 41 48 54 

  

•Ûä̈ Û : 78 69 82 89 54 82 

…½ýÛÛÍÛ¶ÛÛé ÍÛ¾ÛýÛ : 47 45 57 69 32 49 

(1) ÉÛä× ©Ûé¾Û¨Ûé ¾ÛéÇÈÛéÅÛ •Ûä¨Û …¶Ûé …½ýÛÛÍÛ¶ÛÛ ÍÛ¾ÛýÛ ÈÛ˜˜Ûé ïõÛéˆ ÍÛ×¼Û×µÛ ™öé ? 

(2) 95 •Ûä¨Û ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø ›÷ÄõÁõà …½ýÛÛÍÛ¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ¾ÛéÇÈÛÛé. 
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4. (…) ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û …é¤øÅÛé ÉÛä× ? ÈýÛÛ¸ÛÛÁõ¾ÛÛ× ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û¶Ûä× ÉÛä× ¾ÛÐü«ÈÛ ™öé ? ÈýÛÛ¸ÛÛÁõ¾ÛÛ× ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û ïõÁõÈÛÛ 

¾ÛÛ¤éø¶ÛÛ ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 7 

 (¼Û) …éïõ ¾ÛÛé¤øà ÐüÛé¤øÅÛ¶ÛÛ ÍÛ×˜ÛÛÅÛïõ¶Ûé ›Û¨ÛÈÛä× ™öé ïéõ ¶ÛÛÍ©ÛÛ ÍÛÛ¬Ûé þæùµÛ, ˜ÛÛ ©Ûé¾Û›÷ ïõÛéºõà¶Ûà …Ûþù©Û ÍªÛà…Ûé 

…¶Ûé ¸ÛäÂúÌÛÛé¾ÛÛ× ÍÛ¾ÛÛ¶Û ™öé ïéõ ïéõ¾Û. …Û¶ÛÛ ¾ÛÛ¤éø …Û ÐüÛé¤øÅÛ¶ÛÛ 500 •ÛóÛÐüïõÛé¶Ûà ¾ÛÛÜÐü©Ûà ©Ûé¾Û¶Ûà 

›ÛÜ©Û …¶Ûé ¶ÛÛÍ©ÛÛ ÍÛÛ¬Ûé þæùµÛ, ˜ÛÛ …¬ÛÈÛÛ ïõÛéºõà¶Ûà ¸ÛÍÛ×þù•Ûà ÜÈÛÌÛýÛé ¾ÛéÇÈÛéÅÛ ™öé. …Û ¸ÛÜÁõ¨ÛÛ¾ÛÛé 

¶Ûà˜Ûé¶ÛÛ ïõÛéÌ¤øïõ¾ÛÛ× …Û¸ÛéÅÛ ™öé : 7  

    

 ¼ÛéÈÛÜÁõ›÷ 

›ÛÜ©Û ˜ÛÛ ïõÛéºõà þæùµÛ 

¸ÛäÂúÌÛ 67 130 85 

ÍªÛà 85 74 59 

  …Û ÍÛ¾ÛÍýÛÛ¶Ûé ¸ÛÜÁõïõÅ¸Û¶ÛÛ ¸ÛÁõà“Û¨Û¶Ûà ÍÛ¾ÛÍýÛÛ ©ÛÁõàïéõ þùÉÛÛÙÈÛÛé …¶Ûé 5% ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ…é ©Ûé¶Ûä× 

¸ÛÁõà“Û¨Û ïõÁõÛé. 

…¬ÛÈÛÛ 

4. (…) ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 7 

  (1) Ü¶ÛÁõÛïõÁõ¨ÛàýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ …¶Ûé ÈÛíéïõÜÅ¸Ûïõ ¸ÛÜÁõïõÅ¸Û¶ÛÛ. 

  (2) Type-I þùÛéÌÛ …¶Ûé Type-II þùÛéÌÛ 

  (3) ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ 

  (4) ¸ÛÁõà“Û¨Û¶Ûä× ÍÛÛ¾Û¬ýÛÙ 

 (¼Û) …éïõ ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. ªÛ¨Û ÍÛ¾ÛýÛ ¾ÛÛ¤éø¶Ûà ¦ø¼ÛÅÛ ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà Áõà©Û¶ÛÛé Š¸ÛýÛÛé•Û 

ïõÁõà 10th ¾ÛÜÐü¶ÛÛ ¾ÛÛ¤éø ¾ÛÛ×•Û¶Ûä× ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û ïõÁõÛé : 7 

   

¾ÛÜÐü¶ÛÛ : 1 2 3 4 5 6 7 8 9 

¾ÛÛ×•Û : 78 65 90 71 80 101 84 60 73 
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5. •Û¾Ûé ©Ûé ˜ÛÛÁõ¶ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 14 

 (1) Ü¼Û¶Û-Ü¶ÛþùÉÛÙ¶Û þùÛéÌÛÛé ¾ÛÛ¤éø Lipstein¶ÛÛ ¶ÛÈÛ Ü¶ÛýÛ¾ÛÛé 

 (2) ¾ÛÛ¸Û¨Ûà¶ÛÛ ÍïéõÅÛ¶ÛÛ ¸ÛóïõÛÁõÛé 

 (3) Ü¼Û¶Û-ÍÛ×½ÛÜÈÛ©Û Ü¶ÛþùÉÛÙ¶Û Áõà©ÛÛé 

 (4) ÍÛÛÁõÛ ÍÛ×ÉÛÛéµÛ¶Û¶ÛÛ ÅÛ“Û¨ÛÛé 

 (5) ¸ÛóÛ¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë 

 (6) Holt¶Ûà –ÛÛ©ÛÛ×ïõàýÛ Í¾Ûä¬Ûá•Û¶Ûà Áõà©Û  

  

________ 
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1. (a) “The research process involves a series of interrelated and intricate steps.” Discuss 
this statement with reference to the research process. 7 

 (b) Define a Research Design. Distinguish between Descriptive and Causal Research 
Designs.   7 

OR 

 State the format of a research proposal. Develop research proposal for evaluating the 
consumer satisfaction study of a popular brand of edible oil. 14 

 

2. (a) What is Tabulation ? Explain different types of tables used for tabulating a 
statistical data.  7 

 (b) What is Data Mining ? Describe in detail the process of Data Mining. 7 

OR 

 (a) What are outliers ? How will you treat the missing observations and outliers in 
your research study ?  7 

 (b) Write a note on Sequential Sampling. 7 

 

3. (a) The management of ACME appliance store recorded the amounts spent by the 200 
customers who came during the last day of Mega sale. The data on amounts spent 
were grouped into the categories of ` 100 each as under : 7 

   

Amount 
Spent (`) 

0-100 100-200 200-300 300-400 400-500 500-600 

No. of 
Customers : 

35 42 50 38 25 10 

  (1) What is the average amount spent by the customers ? 

  (2) The management decides to give a complimentary gift to each of the top 25% 
spenders. What is the minimum amount one should spend to qualify for a gift ? 
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 (b) Eight pairs of slow learners with similar reading IQs are identified in a third grade 
class of students. One member of each pair is randomly assigned to the standard 
teaching method while the other is assigned to a new teaching method. Test 
whether the data below support the hypothesis that “the population mean reading 
test score for slow learners taught by new method is greater than the mean reading 
test score for those taught by the standard method”. 7 

Pair : 1 2 3 4 5 6 7 8 

New Method : 77 74 82 73 87 69 66 80 

Standard Method : 72 68 76 68 84 68 61 76 

OR 

3. A study was conducted to answer the question “Are the marks of a student in a course 
related to the amount of time spent by him in studying the subject ?” To analyze this 
mysterious possibility a random sample of 15 students who had enrolled in the course 
last semester was taken. They were asked their marks in the course and the total number 
of hours spent studying the course. These data are listed below : 14 

  

Marks : 77 63 79 86 51 78 83 90 84 

Time Spent in 
Studying : 

40 42 37 47 25 44 41 48 54 

  

Marks : 78 69 82 89 54 82 

Time Spent in 
Studying : 

47 45 57 69 32 49 

 (1) Is there any relation between the marks obtained and the number of hours spent in 
studying the course ?   

 (2) Estimate the study time required in order to get 95 marks.  
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4. (a) What is forecasting ? Why do we need forecasting in business ? Explain different 

types of forecasts used in business forecasting. 7 

 (b) The management of a large hotel chain wants to find out whether the consumption 

of tea, coffee and milk during breakfast is same for men as for women. A survey 

was conducted on 500 hotel guests about their gender and the beverage of choice 

with breakfast. The results are tabulated in the following table : 7 

    

 Beverages 

Gender Tea Coffee Milk 

Men 67 130 85 

Women 85 74 59 

  Formulate the situation as a hypothesis testing problem and draw your conclusion 
at 5% level of significance.  

OR 

4. (a) Define :   7 

  (1) Null Hypothesis and Alternate Hypothesis 

  (2) Type-I error and Type-II error 

  (3) Level of significance 

  (4) Power of the test 

 (b) The actual demand of an item is given below. Using three period Double Moving 

Average method estimate the demand of 10th month : 7 

   

Month : 1 2 3 4 5 6 7 8 9 

Demand : 78 65 90 71 80 101 84 60 73 
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5. Answer any Four :  14 

 (1) Lipstein’s nine rules for Non-sampling Errors 

 (2) Types of Measurement Scales 

 (3) Non Probability Sampling Methods 

 (4) Criteria of good research 

 (5) Properties of Normal Distribution 

 (6) Holt’s Exponential Smoothing Method  

   
________ 
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